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18P/239/23 (1)

No. of Questions/swf &t @t : 120

[ime “FH4; 2 Hours/veT | [Full Marks/quTia : 360
Note : (1) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question.
R T B T T H A R | v W 3 () SR w2
e e I & Y U S ®TeT ArET | YlE SAid T H
WIHI® I B

(2) If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one,
2R w35 s wd Iw F frae v A, @ Freean @ 3@

3

1. Which of the following effects Do Not work in the direction of reducing
inflationary gap ?

(1) Income Redistribution effect (2) Foreign trade effect
(3) Pigou effect (4) Marshall effect

i 0 B 79 F@ 1 Frfifes § 4 9 @ e wW R F@
(1) ¥ gAfEmo e (2) fm =R Ve

(3) (4) Wi TN

(1) (Turn Over)
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2. The problem of inflation in developing economies i§ a long term probidm.

This view is supported by
(1) Monetarist Theory (2) Structural Theory
(3) Classical Theory (4) None ofthe above

Torerrate 3wl § qEefife 6 wren ddwrha e & ) g6 Rur @ @ s
Frgra e

(1) W= frga (2) W forgra
(3) wmeha frgm (4) I & @ 2 7
3. 'Trade Cycle can take place because of technological shock.' This view is
supported by
(1) Hicksian Theory (2} Samuelson's Theory

(3) Real Business Cycle Theory (4) Goodwin's Theory
SR 5% TEATR S ¥ FROT 3w 0wy 2 I 7@ R = waefy w2
(1) feFa = fagm (2) Aqarrea % fugr

(3) aTifaes s W% Rigia (4) Tefa = g

(2) (Continuwed)
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The permanent income hypothesis that establishes relationship between perma-

nent income and permanent consumption argues that the relationship depends
on

(1) rate of interest, future expectations and taste & preference

(2} rate of interest, ratio of non human wealth to income and taste & pre-
ference

(3) rate of interest, transitory income and taste & preference

{(4) rate of interest, return on human capital and taste & preference

roft o oReeTT o el o v vt 3w ¥ /9 g9y wfa sl 2, OE
ot 2 fip g way frefofen w fisk s @

(1) = o, wfsy ) yegmm, ¥% @ W

(2) =@ 2, MW AT U TF 3 F A9, W @ e
(3) = R, GFHvEIeR (W) a7, 3 T w

(4) == g, T d@9i W ifw, N T wa

According to the Keynesian model, equilibrium output of an economy may be
less than the full-employment level of output because at full employment

(1) sufficient income may not be generated to keep workers above the
subsistence level

(2) there might not be enough demand by firms and consumers to buy that
output

(3) workers may not be willing to work the hours necessary to produce the
output '

(4) Interest rates might not be high enough to provide the incentive to finance
the production .

(3) (Turn Over)
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%ﬂﬁmm%mﬁﬂﬁaﬁwﬂmﬁmm,@mﬁﬁﬁméﬂ
T W1 § T Q01 TSI TR W

(1) #fe 9 s =R} s gl &y R vate sm & o
T & TR

(2) i uE el g 39 S F F9 S R watw ot A @ wd R
(3) e 30 W W w0 & Rore v A AR S 99 T T AW FW F B

HEHEF B |

(4) W QT S T i 6 9 30 I ) B ver F0 3 waim v d

6. Ifthe Reserve Bank of India lowers reserve requirements, which of the follow-
ing is most likely to happen to interest rates and nominal gross domestic

product ?

Nominal Gross

Interest Rates Domestic Product
(1) Increase Decrease
(2) Increase Increase
(3) Decrease Decrease
(4) Decrease Increase

7R e oo o e PR ) 5 0 2 ) i s e e
i Py 8 @ 3 watfte qow @ 7

(1) 9fg =
(2) 9fg e
(3) = Hif)
(4) 3

(4) _ (Continued)
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7. ThePhillips Curve under the assumption of rational expectation is
(1) Downward sloping in the short run, vertical in long run.
(2y  Always downward sloping.
(3} Always vertical.
{4y (antakeany shape.
fyirepsfier e & feufa 3 fRforew o
(1 sy 3 4R 6 3l e won qon e § 30 AR |
2y =g R o fivea #ar g |
(3) WOTIEMR |
(4) Tt oft SR 1 A FHAR |
8.  Which of the following statements is true with respect to MEC?
(1) The concept was given by the classical school
(2) Itis positively related with expected series of annuities
(3) ltis positively related with supply price of capital assets
(4) Itis high during recession
MEC ¥ wen & freffg T SR m s a2 7
(1) a7 S Are §5eE g A
(2) ﬁ'ﬁ'ﬂﬁlﬁa‘rﬁﬁmﬁ?ﬁ%mﬂtﬂmmﬁﬁéﬁm@m%
(3) ﬁwm%ﬁ@%mwm%éﬁﬁmﬁm%
(4) g whvar & @ =0 g d

(5) (Turn Over)
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9.

10.

Which of the following schools supported the assumption that wage and price
remain rigid ?

(1) Keynesian and New Classical (2) Classical

(3) New Keynesian {4) New Classical

Frfefiaa & @ 17 @1 wvrera vl w na ggar B v w7 wwe v
(1) % & & e (2) iy

(3) Feh Ffrm (4) 7 g

1f no foreign company produccs in a country but many of the country's com-
panies produce abroad

(1} The country's GNP will tend to exceed GDP
(2) The country's GDP will tend to exceed GNP
(3} The conntry's GNP and GDP will tend to be equal

(4) No valid conclusion about GNP and GDP could be drawn

ﬂﬁﬁﬁ%ﬁﬁ?ﬂiﬂﬁmﬁéﬁrﬁaﬂﬁﬁm{fﬁ?ﬁ%%maﬂ?ﬁa@m
T foew d senfim s § @)

(1) 38 3w % GNPIa& GDP & atfuss g
(2) 38 < %1 GDP 36% GNP & arferss B
(3) 39% GNP w4 GDP @ gt & =0t g7t
(4) GNPwd GDP % du # % frvaaefi fiesd 78 fraren s weper

(6) (Continued)



11.

12.

18P/239/23 (1)

Which of the following statements about the Real Business Cycle theory is
false ?

(1) Ttargues that trade cycle is caused by supply side factors

(2) A very popular version of the theory has been given by Kidland and
Prescott

(3} Itargues that increase in supply of money can cause cycles

(4) Ittreats technology shock as an important factor for emergence of cycles
ARATSF ST 9F g % gey & Feffgg i d s mswm adi 7 2 7

(1) 48 g 2 T =amn = i gsfta wwei & 3003 g 2

(2) v figh % w o g S R Redvg v Tawiz g e mn g
(3) 97 qedl 2 fR g1 i ofd # afy =R =% = 3em w g

(4) T A AT H AT 5% 6} I FT IGG FRO T 3

According to which of the following hypothesis, consumption is irreversible ?
(1) Absolute Income Hypothesis (2) Relative Income Hypothesis

(3) Permanent Income Hypothesis  (4) Life Cycle Hypothesis
ffefigs o @ g afteew & STER 39 SRR glar 3 ¢

(1) P 3w afewern (2) wm& A i

(3) T aE oREER (4) a7 =% afeT

(7) {(Turn Over)
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13.

14.

According to Simon Kuznets the relationship between Gross National Product
per capita and inequality in the distribution of income can be expressed as

(1) Decreasing Relationship
(2) Increasing Relationship
(3) Firstincreasing and then decreasing relationship

(4 NoRelationship

R F9CA ¥ AR vl Sl wEe U9 3 UE AE % famw o fawmm
Ty, F YEgd R T

(1) o2dwaa & &9

(2) «@d ey % &9 4

(3) wES wed R wed way & &9 4

(4) Tt oft wee & wv # 7

As per the Classical Theory of Inflation money supply elasticity of price is

(1) Lessthan one (2) Greaterthan one

(3) Equaltoone (4) Not fixed
Tgrede % st Rrgra % srgan i 6 551 A off e A 2
(1) % aqFH (2) @ & wfren

(3) T % (4) ity

(8) (Continued)
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As per Keynesian Absolute Income Hypothesis ifin the consumption tunction

(' =g + b, aulonomous consumption 1s Zero then

o % g w gl & SFaR AR I we C=a by if e ITim
7 @ at

(1) APC > MYPC (2) APC =MPC
(3y APC < MPC (4) MPC =0
As per Keynes equilibrium takes place only when

{1y Planned Investment = Planned Saving

(2) Realised Investment = Realised Saving

(3) Planned Investment = Realised Saving

(4) None of the above

¥ ¥ AR G o B R

(1) frfm fEw = frgifia w=d

(2) dufm FRw = ¥wf S

(3) Pt few = Taifed 594

(4) THr ° A B T

{(9) (Turn Over)
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17. TheMarginal Efficiency of Investment (MEI)

18.

(1) Shows an inverse relationship between rate of interest and amount of
investment

(2} Isanother name of MEC

(3) Slopes downward and is flatter than MEC curve

(4) None of the above

P $ dmea s

(1) = v fEw % v & wonews diy vefifg @@ 2

(2) MEC @ & g ma 3

(3) A A ik i B 2 7o MEC 7% @ st @f g 2
(4) 3% & § = 7

Which of the following is excluded from the calculation of GDP ?
(1) Business buying new furniture for his office

{2) Unsold items converted into inventorics

(3) Purchasc of shares in Stock Market

(4) Both (2)and (3)

freferfigm 4 @ 999 GDP it e & arfirer 78 a2

(1) v =ugar g A Frted % R i wiem

(2) o @ & v vt ol wher =t F wfre R T

(3) =T aam 8 @it 1@ sy

4) ()@ (3) FH

(10) (Continued)
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19. Which formulation correctly represents the net investment as per the flexible

20.

accelerator theory of investment ? Here 7= Net Investment, ¥ =Output, K=

Stock of Capital, B = Accelerator Coefficient, & = Rate of depreciation and
! =time

(1) L=p(Y,-¥,) (2) 1,=p(%-Y,)+6K_
(3) ,=8(Y,-Y) (4) Both(1)and (2)

frfaf § @ @ fam & deen = g & 3Har g Faw & af = Y
e FA R T uE [ = qg fEw, V= 3|, K = Oft wiE, B = e o,
=g g, (=TaY

() L=A-1,) (2) 1,=B(X-1.)+0K,,
(3) 1=B(¥.~1.) 4) (1)@ (2) 3
Which of the following would increase the value of the simple spending

multiplier 7

(1) Anincrease in government expenditure

(2) Anincrease in expotts

(3) A decrease in government unemployment bcncfﬁs
(4) A decrease in the matginal propensity to save
fafefiga & & # WY 35 OF & 64 $ 981 7
(1) @t =51 o g

(2) fata & 9fg

(3) N & sty e #

(4) o w9a wafa §
(11) (Turn Over)
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1.

22,

How did Keynes proposc to solve the problem of high unemployment ?

(1) Increase the growth rate of the money supply.

(2)  Allow wages to decline, so that firms will want to hire more workers.

(3) Putonwage and price controls, so wages w on't rise and firms won't have
to lay people off to cut costs.

(4) Have the government increase its demand for goods and services.

¥ 3= AT TR F geE % o v wd |

(1) wgz1 6 ofd & 3fg 70 & gfe =

(2) gt e w1 A e fored o arfirn Wl Bt AR O |

(3) Fma ok el 2w Pafie @ e gl T ag st vl @1 e s
F0 % o vl | B 7 FE 98 | |

(4) @ g FEget U Hana &t 6w q@E |

Which of the following will occur as aresult of an improvement in technology ?
(1) Theaggregate demand curve will shift to the right.

(2) The aggregate demand curve will shift to the left.

(3) The aggregate supply curve will shift to the right.

(4) Theaggregate supply curve will shift to the left.

T i & o Fefafaa § & # amm g

(1) @ win 3% grdf of foenfa & s |

(2) um Hin = IEff i frnfye @ S

(3) @ it o gt o faeunfim &t smom

(4) w9 9% i oI Renfia & s

(12) {Continued)
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23. Which of the following workers is most likely to be classified as structurally

24,

unemployed 7
(1) Ahighschool teacher who is unemployed during the summer months

(2) Arecentcollege graduate who is looking for her first job

(3) A teenager who is seeking part-time employment at a fast-food restaurant
(4) A worker who is unemployed because his skills are obsolete
ﬁmﬁﬁﬂﬁ@raﬁqﬂmﬁﬁwwﬂmmﬁmmmmﬁ?
) s e = G R S A T A R T 2

(2) mﬂﬁgﬂmﬁmﬁmmmwtﬁ

(3) @Wﬁ%%@ﬁﬂﬁdﬁiﬁﬁ@ﬂ@amﬁ

(@) ﬁaﬂﬁmﬁm%mﬁ%m%ﬁwﬁ

As per JM Keynes variations in the bank rate influence economic activity through
their impact upon

(1) Short Term Rate of Interest
(2) Long Term Rate of Interest
(3) BothShertand Long Term Interest Rates
(4) Hasno impact on the economy at all
3. T, ¥ ¥ oA ¥ o wRe s et & wieda Pr=forfes & wrem
§ T }
(1) FeTwE =¥ T
(2) el == &
(3) e T e = & get
(4) ordomaean W Fr§ w1 T T
(13) (Turn Over)
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25, Assertion (A) : There is automatic change in net tax revenue when level of
output changes. '

Reason (R) : Automatic stabilizers moderate aggregate spending in times of
boom and slow down

Codes :

(1) Both (A)and (R)are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)istruebut(R) is false

(4) (A)is false but (R) is true

AfiFm (A): ;Tﬁ?ﬂmﬁwiﬁm%mmwmﬁﬁmﬂﬂaﬁ:
|

= (R): mmmﬁmﬁﬁwmﬁqﬂﬁmm%
F<

(1) (AJW(R)ﬁHﬁim{R},{A}ﬁ@mmi

(2) (A)aa (R) ! 7@ E T (R), (A) ) 78t =mean 7 #an 3

(3) (A)=é 2 g (R) 7era R

(4) (A) e R fg (R) vt 2

(14) (Continued)
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6. Gross fiscal deficit of the State Governments is financed by
(I} Market Borrowings
(I} Printing of currency
(I} Loans from the Central Government
(IV) Extemal Borrowings
Find the correct answer from the given codes :
Codes :

(1Y I and III are correct
(2} I, ITand IV are correct

(3) - 1and I1I are correct

(4) IlandIV are correct

T gl w1 g Tt e faadiite e e d

(I) STem = Gh

(I +E % g0 gr

() ¥ TR & H0 & g
(V) faefi =w g
Preffiaa g @ w8 3w ghT
E T

(1) LIaI w#hd

) LI aIvedd
(3) 191178
(4) NMaIVede

(15) (Turn Over)
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27. Inastagnant economy, a government should :

28.

(1) Spend more, tax less and/or pursue an contractionary monetary policy
(2) Spend less, tax less and/or pursue an expansionary monetary policy

(3) Spend more, tax less and/or pursue an expansionary monetary policy

(4) Tax more, spend less and/or pursue an expansionary monetary policy
i arfeemen # wEEn # iR

(1) e =29 T, 7 T a1/ 10 St A At 1 vt o
(2) F A T, A H TN A/ ve Remard #feF A w1 e w
(3) TR = F, e aun/ e faeamadt B Hify @ e Fe
(4) e = T, 9 5 AT Y1/ AU formard) A A e e
Fiscal deficit less interest payment is called

(1) Net fiscal deficit (2) Monetised deficit

(3) Primary deficit (4) Budgeiary deficit

T ur e s st whim A w, S d

(1) T& Tona o (2) T

(3) wufieF wr (4) w9 oI

(16) (Continued)
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29.  Which of the following is not one of the objectives of the tax reforms in India ?

30.

(1} Reduction in multiplicity of custom duty rates
(2) Improving tax compliance
(3) Widening the tax base

(4) Suggesting ways to increase the share of indirect taxes in the total tax
revenue

yrE 3 -gun w1 R Peffeg d @ S w2 7

(1) dmgesd 20 H Fgear d 7

(2) AT 3 gan

(3) T I F PR Fw _.

(4) F& oo § g w F o A 7y w0 S et = g
Equity in Taxation can best be achieved by applying the principle of

(1) Equal Absolute Sacrifice (2) Bmeﬁlts |

(3) Equal Marginal Sacrifice (4) Equa! Proportional Sacrifice
o T 1 SN F0 @ w9 § wAf T oW a7
(1) =9 Frde wm (2) @™

(3) WM WA e (4) W ST T

(17) {Turn Over)
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31.

32,

According to Dalton, the total social advantage hecomes maximum when
taxation and expenditure are carried to & point where

(1) Marginal Social Sacrifice (MSS) > Marginal Social Benefits (MSB)
(2) Marginal Social Sacrifice (MSS) < Marginal Social Benefits (MSB)
(3) Marginal Social Sacrifice (MSS) = Marginal Social Benefits (MSB)
(4) None ofthe above |

BTegd & AR, T AR o SReHad 8 AT @ 9" HO i ogy w5 3
fermg % < S g el

(1) Hrara amrfere =M (MSS) > dmr= qrarfaes @ (MSB)
(2) dvea oafer am (MSS) < dmrd wmrfas = (MSB)
(3) mwﬁa&'mw{MSS)=¥ﬂmﬁﬂmmm[MSB}
(4) 37 # Fi§ 38

Public goods are not characterised by

(1) Non-rivalness (2) Nﬁn.-cxcludabilii.y
(3) Contestability (4) Free-riding
ﬁm%mﬂﬁqmﬁﬁwmaﬁmmﬁﬁqﬁmw%
(1) -equirrsa (2) T-afgsrumerr
(3) whigRm (4) % warl)

(18) (Continued)
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The Lafter curve demonstrates the relationship between

(1) Inflation and the nominal interest rate

(2) Taxrate and total tax revenues

(3) Thereal interest rate and investment demand

(4} None ofthe above

A% 5% TE Weikla i 3

(1) Eﬁlmaﬂtw {n&minai]ﬁnﬁat%;*d’%‘q'

(2) F-TL A FA FLAE & &

(3) aveafs sar g awn fafem @i & =

(4) 0% B § 8 T

Which of the following is not an instrument of Fiscal Policy ?
(1) Public Revenue (2) Cash Reserve Ratio
(3) Public Borrowing (4) Public Expenditure
Pt § A B @ T AR H I A R 7

(1) e m (2) #e e argem (CRR)
(3) WEE H (4) wH=s =

(19) {Turn Over)
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35.

36.

Marginal cost of pure public good is

(1) Zero or close to zero (2) One

(3) (1)and (2) both (4) Veryhigh
93 ardsifes aeg A dra @ @

ORSER RN (2) @

(3) (1w (2)TH (4) wa afirs

An agreement between two countries to maintain a free trade area, a common
external tariff, free mobility of capital and labour and some degree of unifi-
cation in government policies and monetary policy is called |

(1) Common market (2) Freetrade area

(3} Economic union (4) Custom union

ﬁwmmw&mmwm,ﬁvﬁaﬁimﬁﬁaﬁmﬁmﬁmaﬂt
mmﬂw%mﬂ@mﬁqﬁﬁwm@ﬁ%ma%ﬁ%
9 TR 9 FW F w7 F@TE

(1) s me (2) 46 MR &

(3) onfias & (4) ww 3P (s wa)

(20) (Continued)
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37. The core principles of multilateral trading system are :
1. Nondiscrimination
II.  Reciprocity
M. Protectionism
IV. Domestic safeguards

Select the right code from the list given below

(1) I,IIand IV are correct

(2) 1landIITare correct

(3) II.lliandl\faremrrﬁct

(4) Iand.IIare;:.urr,ect.

gt SR TR % e R
L

0 =g

M. HEoER

IV, e g I |
ﬁﬁﬂ@ﬁw@mmm:
(1) LuskIved

2) Haimwht

(3) I, IIaRIvVaht

(4) lafIlead g

(21) (Turn Over)
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38. Which of the following is not an assumption of comparative cost theory ?
(1) There is free trade between two countries.

(2) All labour units are homogenous,

(3) Factors of production are perfectly mobile between the two countries.

(4) There are only two countries.

fFrefeien & § 3 g ama fagra 6t a3 76 ¢ 7
() Bl % e e =R

(2) v ! & w

(3) 3 3 % 9 I & wn piaan fesfi €
(4) FawE

39.  Which of the following is not related to World Trade Organization ?

(1) TRIPS (2) FEMA
(3) TRIMS (4) Uruguay Round
e 8 8 9 7 A s et 3 e T 7

(1) fr= 2) %

(3) fom (4) 353 TEs

(22) (Continued)
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40. Sclect the correct statement out of the following :

(1) Multilateral Trade Negotiations are a process of increasing fariffs of
trade among member countries.

(2) Multilateral Trade Negotiations are a process of increasing non-tariff
barriers to trade.

(3) Multilateral Trade Negotiations are a process of increasing tariffs but
decreasing non-tariff barriers to trade.

(4) Multilateral Trade Negotiations are a process of reducing tariff and non-
tariff barriers to trade among member countries of WTO.

Areffae # 3 @ T = T #
(1) wugha s aweh weed <o & e s et & gfs w0 R aien
(2) wgUsE SR SR AR % R-Gyeh il H TgH e 2

(3) wgusliy =AOR WAE Y ® #EM TG NN F N9y @iyl
TR i w2

(4) g9afta SR WOER T, A, 3, & TeE AW ¥ oS SR e o iR-
TYe STt H F9 FA B AR |

41. Offer Curve of a country is derived from
(1) Its Production Possibility Curve (2) Its Community Indifference Curve
{3) Relative International Price Ratio (4) Allofthe above
o 2 1 T 6 PR @ e e o 4
(1) 9% JeaTed TOIET 56 | (2) 6% WHER IATUHE T W
(3) T sy dima ST @ (4) IR @

(23) (Turn Gver)
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42.

43,

44,

Absorption Approach is also known as

(1) Price Effect of Devaluation (2) Money Effect of Devaluation
(3) IncomeEffect of Devaluation  (4) Both (1) & (3)

e srauTon F PefaRea w9 § off s S 2

(1) T F 0 T (2) SR H g T

(3) YT F A @) (Hw 3) 3

International Banking is regulated by

(1) TBRD (2) BASEL Committee
(3) IMF 4) G-7

s 3w fafa R R

(1) TBRD g (2) ¥ gl g

(3) IMF g (4) G-7 g

Which are relevant conditions assumed by the factor price equalization theo-
rem ?

. The countries are characterised by different factor endowments.
1. The countries are characterised by different production functions.

I. The industries are characterised by different factor intensities.

_I‘vﬂ Each country will export the commodity which uses its abundant factor

relatively intensively.

(24) (Continued)



18P/239/23 (1)

Codes :

(1)

LILTL IV

(2y LULIV

(3)

LILIV

(4) LILI

e B T YR (Factor price equalization theorem) grI fe il o1 s
o1 T R 7

L

L

(1
(2)

4)

i IuTEH TSi3AeE F g &l ol Fadran @
fira U™ wer @ g S ) fastwar @ |
i we woeeal 1 R TRl 1 ot 2 |

YA 23 36 a6 %1 gt S0 S A9 T Y F GeRinE 9 8 T
o a4

LIL OLIV
LIULIV
LILIV

LIILII

(25) (Turn Over)
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45.

List-11
(1) A.Emmanuel
(i) R.Prebisch
(1ii) J. Schumpeter
(iv) H.Liebenstein

gHfi-1I
() v g
(i1) o ufem
(iii) 9 e

(iv) U9, A=A

List-I

(a) Export pessimism
(b} Unequalexchange
{¢) Critical Minimum Effort thesis
(d) Innovations Entrepreneurship
Select the correct matching option given in the code |
Code:

(a) (b) (c) (d)
( @ @ @) ()
(2) Gi) (O (iv) (iif)
3) Giy () (D) (1)
# Gv) (i) (i) (i1)

G-I

(a) Tata frmmarg
(b) e fafim
(c) wrfierene —gaw ward SifHwon
(d) TaNETH-IeFR
fw T %z € wear @ et A v D
E T4

@ (b (c) (d)
() ) (i1) (iii) (iv)
(2) ) @ (iv) (iii)
(3) (i) () (i) (i)
4) (v) () () (i1)

(26)
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46. Which of the following are the characteristics of the traditional society in

47.

Rostow's stage of growth ?

(a) Limited Production Function

(b) No Government Intervention

(¢) Pre-Newtonian Science & Technology
(d) Dominance of Agricultural Activity

(1) a,bandd
2) a, bandc
(3) a,candd
(4) b, candd
Pt § @ # @ ORI ¥ TOYUI WM H 9REESE § 7
(a) Wifda eaTE wE
(b) UT T AGEIET
(c) Ay fagm T TR
(d) FRH waFD
(1) a, bwad
(2) s, bWec
(3) acw@d
(4) b, cw@d
Despite being a high saving economy a developing country may still not grow
fast primarily due to
(1) Weak administrative system (2) [literacy
(3) High population density (4) High capital output ratio
qﬁﬁmﬁ%mﬂﬂ%ﬁ%%m@ﬁhﬁ@ﬁmmﬁmmwﬂ
&R g
(1) FHIAR gemafeh &w (2) afan
(3) I SHEEA T (4) 3= Yoil-IeqIg I
(27) (Turn Over)
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48. Directions : The following items consist of two statements. 'Al is assertion
and 'R’ is reason. _
You examine these two statements carefully and select the answer using (he
code given below :

Assertion {(A) : The doctrine of unbalanced growth is based on creation of
imbalances 1n the economy in a conscious manner,

Reason (R) :Unequal development of various sectors nften generates condi-
tion for rapid development.

(1) Both (A) and (R) is individually true and (R) is the correct explanation
of (A)

(2} Both(A)and (R) is individually true and (R) i= the incorrcet explanation
of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R} is true

fm:  fratafea 301 =1 eamgds she w5 ok = 80w @ o W
Fwtd | A T § o R FRW 2 |

W{A]:?@%ﬁﬁmmmim@ﬁaﬁmawﬁﬁmmﬁaﬁqmmﬁmm
|

=R (R) : fafia e @ sragfem fasrma ammraa dta snfifs fram 6 ket 3mm
T 2 |

(1) (Aywn (R) @ 7= 2 3l (R) (A) %1 v 2
(2) (A)wun (R) @ 5a B 3t (R) (A) # Ry 78 2
(3) (A)we @ frg (R) oea &

(4) (A) e & g (R) T 2

(28) (Continued)
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49. The hypothesis that the degree of inequality of income increases at initial

30.

stages and declines at latter stages in the development history of nations has

been propounded by
(1) R.F.Harrod E -: (2) Simon Kuznets -
(3) J.R.Hicks |  (4) T.W.Schultz

¢ e % 3 ) srE g % 3 3 ot foe & e 3 o
Fadt 3 i g i wed ¢, e g vRafa A m R 7

(1) 3 T ¥S (2) @ F52
(3) J . = (4) &, &g, g

Which of the following variable is not included in the calculation of compo-

" site HDI index ?
(1) GDPindex (2) Education Index
(3) Life Expectancy Index (4) Deprivation Index

e 3 A 1 T T G, 3, B 3 T g R 7
(1) o, A, 6. gaF= (2) Rren gEE

(3) e T YD (4) IO GEFS

(29) | {Turn Over)
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51, Match list T with list I and select the correct answer using the codes given
below the list : '

(A)
(B)
(©)
D)

(1)
()
(3)
4

List-I1
(i) W.A.Lewis
(i1} G Myrdal
(iii) Harrod Domer
(iv) A.Smith

et 1 e g 11 et ot ol AR fag g wart % amaR W ad sl

(A)
(B)
©)
(D)

(1)
(2)
(3)
(4)

List-1
Stationary state
Unlimited supply of labour
Knife Edge equilibrium
Theory of cumulative causation
A (B (€) (D)
G - @ o Gi) )
(v) (i) (i) (ii)
(ii) (i) (i) (iv)
& O G i)
-H.\iﬁ-l
wifes e
refifir sm gfd
g 4R HgeH
T g
(A)  (B) (€) D)
(i) (i) (i)  (iv)
(iv) (i) (i) (ii)
(11) (iii) (i) (iv)
vy (i) (iii) (i)

(30)

-1
(i) s=% v ofRm
(ii)., .= fcerr
(iii) & em
(iv) ¢ for

(Continued)
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52. Which one of the following factor is stressed by Schum]}ﬁ-tﬂf in his theory of

economic growth 7
(1) Innovations (2) Laissez faire
(3) Population growth (4) Surplus value

ﬁuﬂuaﬁaﬂﬁmm#ﬁmﬁﬁaﬁamm%m% ?
(1) Jagad (2) ey
(3) SEEAl gig (4) et ed

53. TheBig push strategy of development was first advocated by
(1) Rosenstein Rodan (2) Simon Kuznets

(3) W.A.Lewis (4) A.O.Harschman

(31) (Turn Over)
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54. Consider the following statement :

The knife edge problem in the Harrod-Domar growth model implies a constant

I.  Rate of population
0 Output
. Rateofsavings

IV.  Capital output ratio

Thus choose one of the following options :

(1) IV aloneis correct
(2) TandIl are correct
(3) [, IIand I are correct

(4) I, IMandIV are correct

ﬁwmmmé:

Flrg-2e ufee 3 91 ur wwen #1 o 2 wum

. wenIfgm
I 3R
. s9a §|

V. {oht-smae s
H‘ﬂ:ﬁﬁﬁﬂlﬁﬂﬁ:

(1) FaAIV geq #
(2) ITemiiead g
(3) LUaw o §

4) LlllanmIvVag$

(Continued)
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List-I List-1I
(a) Unbalanced growth (i) A.O.Harschman
(h) RandDand growth (i) K.Marx
(¢) Human capital and growth (iii) P. Romer
(d) Surplus value and accumulation (iv) R.Lucas
Select the correct matching option given in the code :
Code:
(@) (b) (c) (d
(1) (1) (i1) (iii) (iv)
(2) @v) (i) (ii) (1)
(3) (i) (iii) (1) (ii)
@ () & O (ii)
el -1 -1
(a) e fawm (i) u 3h, T
(b) Rt D fawm (i) = W
(c) wa it ot fersre (iii) i T
(d) TR o9 W@ T (iv) 3R Y
&qw@ﬁm%aﬁﬂa%waﬁ:
E A
(a) (b) (c) (d)
(1) @) (i1) (iii) (iv)
@ @ Gy @ O
3y () (i) W) (i1)
(4) (i) (@) (i) (iii)

(33) (Turn Over)
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56. According to Solow, the long-run rate of growth in an advanced cconom
cquals Harrod's

(1) Natural Rate of Growth

(2} Warranted Rate of Growth

(3) Actual Rate of Growth

(4} Warranted Rate of Technical Progress

A % SR, T fofi orlegaeen § AvieeT otk B R T B 2, 2 %

(1) wrfes w3y
(2) F=aa (smeanfya) w3z =
(3) awfew Fafy =

(4) I wife =i 3fa @ (snwfem 1)

57. List-1 List-1]
(a) Physical quality of life index (i) W. W. Rostow
(b)  Organic composition of capital (iiy R.F, Harrod
(¢) Warranted rate of growth (1i1) Morris D.Morris
(d) Stages of growth theory (iv) Karl Marx

Choose the correct matching option from the given codes ;
Codes:

@ (b (c) (d)
(1) (v) Gy @) (ii)
(2) (i) Gv) @) (i1)
() () (v ) ()
4) (i) (@Gv) (i) (1)

(34) (Continued)
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-
(a) e gaEeieh H difoe e
(b) G w1 F= T
(c) w3fg # st
(&) wafy g A v

T2
(a) (b) (c) (d)

(1 @v (i) @ (ii)
(2) (i) v O (ii)
3) @) G Gy @
(4) (i) () (i1) ()
Solow built his model as an alternative to
(1) Kaldor's model of growth

(2) Ranis-Fei model of growth

(3) Meade's model of growth

(4) Harrod-Domar model of growth

18P/239/23 (1)

-1
(i) g TG T
(i) oW TH, 80T
(iii) wirfe 9, mfte
(iv) T AT

ﬁﬁ“ﬁ@ﬁmﬂﬂﬁﬂamwaﬁﬁq:

mammﬁﬁﬁw%mﬁﬁﬁﬂﬁm?

(1) Feer F fam qree
() ra-wrd @ R e
(3) e = famm ATET
(4) re-Sm R fadma Aed
(35)

(Turn Over)



18P/239/23 (1)

59. What is the correct sequence of the following approaches to development in

terms of their chronological emergence ?

(a) Percapitaincome approach

(b) Basic needs approach

(c) Human Development Index approach

Choose the correct answer from the codes given below :
Codes :

(1) a,b,c

(2) b,ac

(3) b,c,a

(4) acb

fawm & frfafas Em w1 3% ks & o s s 2 0

(a) witeafe am gftwin

(b) TFNE IETEHAT g

(c) = fara gashie g
Preffes Ry R i A ¥ g s
= _

(1) ab,c

(2) b,ac¢

(3) b.c,a

(4) acb

(36)
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The physical quality life index 'PQLI' is based on

(1) Percentage of literacy, infant mortality and life expectancy
(2) Adequate supply of food, water, shelter and health services
(3} Provision of sanitation, education and welfare measures
(4) Allthat's mentionin (1),(2)and (3)

W e e g (PQLY) Few T e 2 2

(D e T wRR, R 77 @ i S yearn % g w
(2) wma, 9, 35§ e gned 6 wi o

(3) s, R qun e i ST

(4) (1), ()3 (3) TR

Demographic dividend refers to the rise i population

(1) Between the age group of 1 to 14 years

(2) Between the age group of 15 to 64 years

(3) Between the age group of 65 to 74 years

(4) Above 74 years
m@mmﬁﬁﬁ%ﬁamaﬁﬁq&ﬁwﬁﬂz ?
() 13147 A1 Y8 @

2) 15264Td & Wy wR W

(3) 65F T4 & g W /

(4) 7474 4

(37) (Turn Over)
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62.

63.

64.

The progress of economic development refers to

(1) Growth of national income aver time

(2) Growth of per capita income and standard of living

(3) Full employment of the entire population

(4) Growth of national income with structural changes in the economy
st frepra & @ @ ard 2

(1) B9 % §rY U 37 1 91

(2) vwhveafe amr od sftaa w0 = A

(3) T SEE & forg qof demm

(4) ieraEn ¥ HEAeRs qitads % Ty Tt s A

Marx refers to the concept of organic composition of capital. Which one of
the following ratios stands for this ‘Where ¢ is constant capital, v is variable
capital and s is surplus value'.

TR A RFrET R =i addshwwm I i gt By
@ c—fer O, v aftadafie gf, s afits R

(1) eiv+s) (2) civ
(3) cle+vy ~ (4) (c+ v)iv

Disguised unemployment generally exists in

(1) Manufacturiﬁg sector (2) Agriculture sector
(3) Small scale indusﬁcs (4) Urban societies
FeR= ST AT e @ P ard et ¥ 7

(1) fafmior & o (2) FH &z &

(3) g e A (4) wg o i

(38) (Continued)
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Divections :  The following items consist of the two statements. 'A’ is
assertion and 'R’ is reason.

Assertion (A) : Technological changes is regarded as an important factor in
the process of economic growth.

Reason(R): Changes in the technology leads to increase in the productivity
of labour, capital and other factor of production.

You cxamine these two statements carefully and select the answer using the
code given below :

(1) Both(A)and (R)is individually true and (R) is the correct reason of (A).
(2) Both(A)and(R)is individually true and (R) is the incorrect reason of (A).
(3) (A)istruebut (R)is false.
(4) (A)is false but (R) is true.

frder: T 1 A SIS T3 3N Y Ry HRan g WIS | A IR

2 aur R’ F09 |
awed (A) aﬁmmﬁmﬁmﬁmﬁwﬁ@wm
e &
& (R) : qaii § e & am, $oft ofh 3 F o Al Y el
dafga g

(1) (A)aa R)FATE, R)A)F @ FE |
(2) (A)mn (R) 3 & &, (R) (A) F1 e F9 8 |
(3) (A)wd 2 af (R) e 2 |
(4) (A)7em 2 afF R) R |

(39) (Turn Over)
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66. Directions : The following items consist of the two statements. ‘A" 1s
assertion and 'R’ is reason.

Assertion (A) : The growth of per capita income in India is slow.

Reason (R): Indiahas experienced a high growth rate of population.

You examine these two statements carefully and select the answer using the
code given below :

(1) Both(A)and (R)are individually true and (R} is the correct reason of (A).

(2) Both (A) and (R) are individually true and (R) is the incorrect reason
of(A). :

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

fdw . Prefefes 3t A eargds 03 ait i g e T g AR I AT
e 2 991 'R’ SRV |

awsd (A): W B ufo safe s gfg wedeh #
H0 (R) : I 3 399 e g &+ wivE e g

(1) (A)yam (R) 2 &, (R) (A) % &t Fror 2 |
(2) (Ayau (R) 3 =&, (R) (A) F1 e F0 R |
(3) AmARAfH R)TER |
(4) (A)Tem 3 A= (R)wéi }

(40) (Continued)



67. Economic development is a

. Continuous process

1. Short term process
. Long term process

Answer by choosing any one of the following :

(1) 1l alone is correct

(2) 1andlll are correct

(3) [l alone is correct

(4) Iand Il are correct

e foem 2
I oda wiswan
1. e gfswa
M. drfee gben

frg # A T Fwes I W IW
(1) F3aliwd
(2) law (118
(3) Faa [Iad

(4) Twnliwd

(41)
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68.

69.

Disguised unemployment refers to the situation when ?

(1) People scems occupied on a full time basis even though the services
they render required less than full time.

(2) Workers are unpaid despite doing full time job.
(3) There is a coexistence of unemployment and inflation.

(4) The economy experiences under employment equilibrium.

Tog auami e A a s Y feafo 2 7

(1) =l e quisstas 9 @ Fdw el @ FEih $ g Yen dary g A
%9 wHa § NeH W w2 |

(2) HfE F T TE WW e T 3 TS §9 8 FEE A 8 |
(3) gEwhifa au ST i ge-ifed |

(4) srefaeyn § aqel YqeH T I 3T F4 2 |

Which of the following sequence correctly depicts the 'Vicious Circle' of
poverly ?

(1) Low income— low investment— low demand-— capital deficiency
(2) Low investment- low income - low saving— capital deficicney
(3) Low income— low demand— low investment— capital deficiency
(4) Low investment— low saving— low income - capital deficiency
feddaRanif S s s ol v d quim 3 7

(1) P o e fedw P ame dof 6 =an

(2) fim PrRw_ f o e a9 B B

(3) = sm— P A fe e 6 R =

(4) fom Pdw f wwa— fe o Gt A g

(42) (Continued)
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70. The utilisation of disguised unemployment as a SOUIce of saving potential in

7I.

72.

underdeveloped countics was suggested by

(1) R.Nurkse (2) P.Baran

(3) R.Harrod (4) W.W. Rostow
a4 § a=a gl % & # WA w0 e e fen
(1) R, T (2) . TR

(3) @ ¥ | (4) T T I

Who defined India's problem as one of 'primary accumulation of capital' ?

(1) A.K.DasGupta (2) N.Kaldor

(3) V.K.R.V.Rao (4) J.R. Hicks

Fre T < wEn @ e G % wafE e R e e ?

(1) T, % O (2) To FASH

(3) . % AL ST (4) ., oI e

Which of the following model is ﬂﬂn:sidcred very close to Mahalnobis Model ?
(1) Feldman (2) Solow

(3) Kaldor (4) Joan Robinson
ﬁﬂﬁﬁﬁnmqﬁamﬁmﬁa@mmm% ?

(1) %esH (2) @

(3) FH (4) ¥ oferwa

(43) ' (Turn Over)
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73.

74.

75,

In case of a Giffen good, the income effect

(1) More than offsets the sybstitution effect
(2) Isequal to the substitution effect

(3) Reinforces the substitution effect

(4) Only partially offsets the substitution

P Tegatt & wed § o

(1) SR woe & e g 2

(2) wirearE wimg ¥ wwer d 2

(3) whwemaa yvma vt w2

(4) Fa@ T F T IR 9N F TR S

When average product increases, the marginal product is

(1) Less than the average product (2) More than the average product
(3) Equalto the average product (4) None of the above

1 Sl 3G wgaT & 4 diia e

(1) ofvem Iraea @ a0 Dar 2 (2) sftea s & tfys gy 3
(3) 3Fa ImTeA F T Bay 2 (4) 370 ¥ & + 78

Quasi-rent is

(1) Price— AVC (2) Price - AFC
(3) Price - (AVC +AFC) (4) Price - MC
HTITH TP R 8T 2

(1) Price (Figa) — AVC (2) HmF- AFC
(3) $ma—(AVC+AFC) (4) &img - MC

(44) (Continued)
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Who defined rent as the reward for use of original and indestructible powers
of the soil 7

(1)} Marshall (2) JoanRobinson
(3) Jevons (4) Ricardo
wmﬁ@ﬁm@mmam%mwmw

e ?

(1) wre (2) 9 WA

(3) Va8 (4) Rl

In case of two perfect substitute commodities, the marginal rate of substitution
is

(1) Constant (2) Unchanged

(3) Increasing (4) Decreasing

21 ot st Tl % o e A dre T Eh R

(1) fer (2) sfEfia

(3) &l & (4) wedh g

Supply curve of the short run competitive firm is the same as
(1) Short run Marginal Cost (SMC) curve
(2) Average Variable Cost (AVC)curve
(3) SMC curve above AVC curve
(4) SMC curve above Short run Average Cost (SAC) curve
srere 8 siyant v w1 qff 3% gk
(1) e diamt @md (SMC) 3
(2) 3hum shEdRie drma (AVC) 35
(3) AVCTF & I SMC %
(4) swgEha sitem @ (SAC) 3% & FH SMC
(45) (Turn Over)
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79.

80.

Leontief isoquant is

(1) Parallelto the axis with a kink

(2) Aline with no kinks

(3) Aline with many kinks

(4) A smoothcurve

feavafes = wriere 9% € 2

(1) 5= & 9 %5 % gA-R

(2) T e b

(3) e g wfea e

(4) firpio S

When income falls, what happens to the liquidity preference curve ?
(1) Itdoes not shift

(2) It shifts to the left

(3) Itshifts to the right

(4) It becomes parallel to the vertical axis

s o ® Y A R, 7w aterm sty o T Ry g 2 o
(1) b8 wmrafa + g 2

(2) wz wwdi siv ARG g}

(3) ¥ et IR wmERE g 2

(4) 4§ Avaat NG F GEEFI B T 2

(46)
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Which one of the following cost curves is not U-shaped ?
(1) MCcurve (2) ACcurve -
(3) AVCecurve (4) AFCcurve
fraffes AR i 3§ B9 T U-wrf o1 7 g 2 7
(1) MC | (2) AC

(3) AVC (4) AFC 9

When elasticity of demand under monopoly is equal to one, then Marginal
Revenue will be

mﬂ%mﬁﬂqﬁﬁ@ammﬁ%mﬂfﬂ%ﬁmmmﬂl}@’ﬂ

(1) MR=0 (2) MR=1 (3) MR>1 (4) MR <1

_ In Hicks-Hansen theory of interest, an increase in money supply leads te

(1) Rightward shift of IS curve

(2) Leftwardshift of IS curve

(3) Rightward shift of LM curve

(4) Leftward shift of LM curve

-t & e g B, T A G A g A Ak
(1) 1S 3% B it S T
(2) 18 a% % Rl FH T

(3) LM a5 1 g S et

(4) LM as & =it AR TR

(47) (Turn Over)
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B4,

85.

86.

Who among the following held the behaviour of pepulation as an obstacle to
economic growth in initiating the process of growth ?

(1) Lewis (2) Leibenstein

(3) Rostow (4) Rodan

Frferfm o & fred o fasme 1 e oo w0 ¥ wgen & wEn &
faFra #1 anF w R 7

(1) fefew (2) fedfem

(3) t=E (4) TsM

According to Nurkse, developing countries will have serious and adverse
effect on their balance of payments due to which of the following ?

(1) Backwash effect (2) Spread effect
(3) Demonstration effect (4) Multiplier effect

TR % 7R Pl § @ R wwo e 3 % ym dgem w i
T gferest T g3 7

(1) wfcféra sure (2) foem wg
(3) Feda v (4) T

A monopolist will fix equilibrium output of his product where the elasticity
ofhis Average Revenue curve is #

(1) Zero (2) Lessthanone
(3) Equaltoone (4) Greater than one

Wmﬁmmmwwmﬂmﬁ%maﬁmmmﬁ
#t @i 2f

(1) 1= (2) =E A w5
(3) v & s (4) = & afrw

(48) (Continyed)
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Marginal Revenue will be negative, if the demand is

{1} Relatively clastic (2) Relatively inelastic
(3) Perfectly elastic (4) Unitary elastic
i HITE HOEES g, At wi

(1) THE SA=ER (2) WE SAEIN

(3) Tvfa: SR (4) T3 TR

Situation of bilateral monopoly exists when

(1) Twao sellers face two buyers
(2) One seller faces two buyers
(3) One seller faces one buyer
(4) Two sellers face a few buyers

frqefty wairn 1 fEufa @ gt & o
(1) 21 s & vt W W A E
(2) ' T Q) kst W F
(3) e Tk O A WA e
(4) 2 Fapan o Feoll = T A ¥

The objective to establish MUDRA bank 1$
(1) Topromote banking habits amongst weaker section
(2) To provide assistance to the informal sector and demestic small business

(3) To provide assistance to the corporate sector
(4) To promote financial literacy

mz1 (MUDRA) ¥ 1 ®II 1 3% &
(1) wercan & 3 amea it ewEd
(2) s &% wd Ge 91 SAaur) i HEEal S S
(3) fomfim &3 * FaE@ar ¥gH FA
(4) Tl s (fvem) # MemEa w0
(49) (Turn Over)
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90. The condition of optimal allocation of goods A" and ¥ between two consumers

91.

A and B under perfect competition, according to Pareto, is

WA & FEr, f wRfa & smntd, 4 sk B @ sudrwsti & @im X ok ¥

TEGH & HTFHTH AEA hi B
(1) MRSy, > MRSE, (2) MRS, < MRS},
(3) MRS}, =MRSy, (4) MRSE, = MRS}, =0

Productivity of Indian agriculture can be enhanced by
(a) Increased public investment

(b) Increased irmgation facilities
(¢) Shifting workers from industry to agriculture

(d) Higher support price to the farmers

Select the correct answer from the codes given below :
Codes :

(i} a, b c (2) ¢, d a
(3) a b d (4) b, ¢, d

WS F IrarEar w1 Fefied g s ST g 2
(a) e Faw @) sgwE

(b) fé=r glrenadi %) agrER

(c) =fifi =1 gein A FR H 30 I =

(d) FuHl F TR TEAF FE 2 =

et fow e @ 4§ 7 3w T

E T

(1) a, b, ¢ (2) ¢, d, a

(3) a, b, d (4) b, ¢, d
(50)
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The following factor was not considered by the 14th Finance Commission in
determining the States' share in the divisible pool

(1) Population (2) Demographic change

(3) Income distance (4) Fiscal discipline

P TR (Pool) # Tl W e fufr w0 & forg hegd e amn g
Preferfiga o @ F1 91w T8 w7

(1) & (2) wAiHE TfEda
(3) gl (4) TIHIEIE ST
(i) Introduction of Rolling Plan

(ii) The movement from planning to market mechanism
(iii) Nehru-Mahalanobis model
(iv) Declaration of plan holiday

Choose the option having the right chronological order.

Code .
(1) @) (i) Gv) (i) (2) (i) Gv) () GiD)
(3) (i) Gv) (1) (i) @) (i) (i) (i) (iv)

(i) Qfem = H TR

(ii) Praivem & TR Gttty (Faret) H ofR weer

(iii) EE-werAeE Hed

(iv) e s &t 2

o F FAER & fawen F 9w A

kT

(1) () (i) vy @) (2) (i) (v) (1) (i)
(3) (i) (v) (i) (i) (4) (i) (i) (i) (Qv)

(51) (Turn Over)
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94.

95.

The general methods used to solve industrial disputes in India are
(a) Collective bargaining

(b} Compulsory arbitration

(c) Adjudication

{(d) Decision by trade unions

Choose the correct combination of methods from the following codes :
Code :

(1) aand b _ : (2) band ¢
(3) band d (4) a and ¢
wIa # stk fSE] 1 gt w4 % forg swdin ) 7§ gy gy 2
(a) WS Qe

(by afar faarm

(c) ferfofa

(d) wetet Tt F folg

frefeflaa w2t A wd dom =1 9g3 = |

T :

(1) aswb (2) bage
(3) bwnd (4) avdwc

Which of the Five Year Plan has laid emphasis on 'faster, sustainable and ingte.
sive growth'?

(1) Eleventh Five Year Plan (2) Tenth Five Year Plan

(3) Ninth Five Year Plan (4) Twelfth Five Year Plan
e werrdfr s 3 ST A el awn @ sty TS R} 7
(1) =i veadig Qe (2) Tt gaadig gt

(3) & e A (4) " v=itg A

(52) (Continued)



96.

57,

98.

18P/239/23 (1)

As per the latest SRS data, which of the following age group has the lowest
age-specific fertility rate in India ?

mmm%mm%wmﬁmm—w@ﬁﬁm%'m
£ oy - R o it g & 7

(1) 15-19 (2) 20-29 (3) 30-34 (4) 35-39

1f the propensity to save in a country is given by S§=0.3y - 50 and level of
investment is given by I1=0.2y. Find the equilibrium income

o o 3§ awq vyt §= 0.3y - 50 3f fafam ww 1= 0.2y 2, 9 A
) T HRT

(1) 5000 (2) 1000 (3) 500 (4) 100
Which of the following relations are functional relations ?

(1} Y isthesonof X

2y y=(x-3)2

(3) Consumption is proportional to income

(4) (2)and (3) are correct

At et A @ e e §
(1) ¥ X=i@t

2) y=(x-3)2

(3) i o 3 S g &

4) @) 3T
(53) (Turn Over)
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99. Let R be the relation > from 4= {2,4,6,8} to B={3,5,7.9.10}. What will
be the domain and range of R

(1) Domain={2,4, 8}, Range={3,5,7)

(2) Domain= {4,6, 8}, Range={3,5,7}

(3) Domain={2,4,6}, Range={5,7,9,10}

(4) Domain= {4, 6,8}, Range={7,9, 10}

aR’ R > WA R A={2,4,6,8) 7 B={3.5,7,9.10} F 3\ | R 5 2w air ¥z
1 Em 7

(1) =W ={2,4,8}, ¥={357

(2) I ={4,6,8), T=1{3,57}

(3) ¥ ={2,4,6}, W=1{572910}

(4) 3 = {4,6,8}, T ={(7.9,10)

100. f'(x)<0 and f"(x)>0 implies

(1) Value of function is falling at an increasing rate
(2) Value of function is falling at a decreasing rate

(3) Value of function is increasing at an increasing rate

(4} None 1s true

Fiixy<0 M f"(x)>0 a2

(1) e 1 79 wgeht g8 21 w i g 2
(2) %o 1 9 et g€ o0 o e g @
(3) oM F1 A Todt T TR we wr }
{4) +% w7 v 4 §

(54) (Continued)
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Profit maximization output for a monopolist firm with C=aX*+ bX+d, as

cost functionand p = - oX as the demand function (when firm fixes output)
willbe

w Tl o, R o e C=aX?+bX +d, WAMEH p=p-oX
2, ol 1 it @ Saned 2 (AR i I W AR = ?)

{1) X:"B—b (2} X:.b"ﬁ
ax+a a+a
_ p-b __b-8

3) X_Z(a+a] ) £ Aa+a)

If demand function is p=35-2x—x’ and the demand x, =3, what will be
consumer's surplus ?

R W FH p=35-2x-x A x =3 2, i SR A B

(1) 0 (2) 30 3) 27 4) 25

If arithmetic mean and geometric mean of two values are 10 and 8 respec-
tively, find the values

(1) 12and4 (2) 16and4

(3) 12and 2 (4) 16and2

2 3 T & R e SR UATR A SR 10 3k 8 &, 7l F 7 TR
iR

(1) 12 ¥ 4 (2) 16 3 4

(3) 12 3 2 (4) 16 ¥R 2
(53) (Turn Over)
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104. Factor reversal test is satisfied when

e IFAdl Wi EqE Bl & I
(1) F, xRy =1 | (2) RyxQy=1
(3 BixQ,=1 (4) FoxQy = %;'j'

105.If b_=0.5, r= (}8 variance of y = 16, thevalueﬂfn will be
iy b =05, r=08, y F fww = 16, W@ o, & ¥ AW

(1) 2.5 (2) 6.25 (3) 6.4 (4) 10

106. A bag contains 3 black, 3 white and 4 red balls, Three balls are taken out from
the bag at random. Find the probability of drawing one black, one white and
one red ball,

O & 1 3 Felt, 3 wdg ofR 4 e G | Ageew 3 O H § Pt wwh §
01 Feft, 01 Tt 3R T T iz fwm 9 ) wivwa s fifm |

4 3 7 3

M 3 @ 5 3) 7 ) 35

Ef _E—x’
107. f:R— R isdefinedby f(x)=——— is

€ +e

(1) one-one but not onto (2) many-one but onto

(3) one-one and onto (4) neither one-one nor onto

e,x’

f:R— R qitwfim } f{x)~ 7

(1) F9-77 76g I, 7 (2) F3-37 9rg A

(3) -1 qU1 g (4) T T9-77 3l 7 e

(56) (Continued)
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08T ¥ 4y =3axy, then 2 will be

‘Tﬁx1+y3=3a1y?h% a

v —¥') ay-x')

(1) ‘yz_m,} (2) 3[y —ar]

’ [J*‘I-ﬂi) (ayvx})

) (gp-7) @ (7 a)
109. | l“f"dx will be

f Iﬂgxttr &1 7 B

! 2
(1) 2logx*+e (2) logx’ +c

(Ing x}

3) (4) 2(logx) +c

{10. Function y=x*-3x'+5 hasapointof inflexion
(1) at x= -1 (2) at x=1
(3) at x=2 (4) at x=0
G y=x -3x'+3 R oRada fag R

(1) x=-1W (2) x=1W

(3) x=2 ™ (4) x=0 R

(57) (Turn Over)
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111 If A=E ?J then determinant of the matrix 4° - 24 will be

afg AJ: ﬂ ¥ A A° - 24 w0 wnferE w1 g Fm
12

(1) 1 (2) 3 3) 5 (4) 25
2 3 1 4] .
112. Therank of thematrix A=|0 1 2 -1| is
0 -2 4 2
(1) 2 (2) 3
(3) 1 (4) Indeterminate
"2 301 4
IE A=(0 1 2 -] w¥swm
02 4 2
(1) 2 ) 3
(3) 1 (4) sfraiei

113. The relation between minor— M| and cofactor— C, is shown by
a'qmﬁra;_Mb, T TE-TR—C, %a‘?ama'—u#rﬁqmqaﬁiamﬁ

() G, =M, (2) G =(+)y"m,
3) C,=(-1)"". M, (4) C, == M,

(58) {Continue:)
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Whet is (/, - {) in statistical analysis ?

(1) Class {2) Class limits

(3} Mid-value (4} Class interval

wiftud frwewa 8 (1 -/) ;1 d 7

(N et (2) o dhmd

(3) w1 (4) = =

If Lorenz curve is a straight diagonal line, it shows that the distribution is
(1)} Equal (2) Highly unequal

(3} Unequal (4) Unequal of low degree
ofe S o o el Yan & & 72 guim & fs faeror

(1) awr R (2) % i amwm §
(3) e R (4) 5 aum R

If puints on a scatter diagram DO NOT show any clear trend, we conclude that
(1) Variables are highly correlated

(2) Variables are positively correlated
(3) Variables are nEgatii'ely correlated

(4) Variables are not correlated
a2 Rl R 7 73 firg Fd v ot T i A o a P Pt &

(1) =2 4 35 geasy 8
(2) =i # g geeay 3
(3) =l o HomwES TEEEy
(4) = % areag 7€ R

{59) {Twrn Over)
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i17. According to the empirical rule, approximately what percent of data shouic
within pt2o
T T & ATEN, P TG H R Wiowd 1wt 20 o ot g ey ¢

(1) 75 (2) 95 (3) 99 (4) 63

118. The grouped data is also called

(1) RawData (2) Primary Data
(3} Secondary Data (4} Qualitative Data
wfea IR FEera @

(1) owafega ez (2) waives swg
(3) feea e (4) ToreR AR

119, Tic.k the correct :
we = fafRe $ifm

(1) A—B={x:xedﬁx!3}
(2) A—B——-{x:xEAuxEB]
(3) 4-B={x:xgAnrxeB)

(4} A-B={x:xeduxeB)

£ EMN
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20, A good index number is one which satisfies
{1) Unit Test.
(2) TimeReversal Test
(3} Factor Reversal Test
(4) Time and Factor Reversal Test
T 70! gaEE 98 § 9 g = d
(1) i wle
(2) ama IewnTa qliE
(3) W IehEna ey

(4) TWa TE T IcHma

(61) B-2,50C
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